=
<

(0 @) (rad)

102

SICEWATL

...............

TP n (PCA

2 3
to beamline)

a(d cot(d))

Ratio

1 2

3

TP n (PCA to beamline)

—=— DQM_CKF_QCDHighPt_base
—— DQM_CKF_QCDHighPt_retrainOldFiles125_v2_prelimWPM_epochl

o of 1 } I 1
= F . . .
< E- i i Hoe
o 125 : i : :
O 3
000 WO Y AR | S 000 | 0 O O
E : 1 : i
0.9E
-2 -1 0 1

o p/p.)

L Fo]
§ 1.4:

L2fereies

Treeeenete

0.8

=

1072 =

ke R —

2 3

-4 1-441-

h

0 1
TP n (PCA

2 3
to beamline)

oo a,) (cm)

z

1::

107" it

1072

- 2

3

TP n (PCA to beamline)



	Contents
	Page 1


